N = 0l & At & Ml A

20198 = 20 A LESH sYII=sHE
A sgI=HH
HE: 59 FMY L
ol Meseol |4 (SHol: @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
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= 17,500
o 11,685
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SsYol W 6,968 5,718 1,250
201 et 9| 2,472 3,122 A 650
01 AP 2t 2] d| 2,472 3,122 A 650
Osgol s ZA=Y
150,000€ = 1 = 108 1,500
OMillsgeol A=2)lss =2AF 0|
81,000 = 12% » 1¢ 972
301 et A= 2,496 2,596 A 100
09 #HAIAHI BEAZ 2,496 2,596 A 100
OSt&CH ¥ A3 NE2UR
81,000 x 8 x 23| 1,296
OMdll sgol Ag)lsns 24K 24
8,000& = 150H 1,200
405 KHoaHFE S HI 2,000 0 2,000
01 XA 2B F S| 2,000 0 2,000
Os20 DEF HYI| 7
1,000,000 = 2CH 2,000
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DAS BHES HeE3 644,575 735,000 £90,425
=2 135,000
as 150,000
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oAy 70,000& ~ 198 « 12& 840
cIIExE 120,000& » 1Y = 12& 1,440
o " A S| 1,283,620 * 1€ = 120% 1,541
ocHIIFIIE 82,400& + 1¥ » 18 1,484
o N2t £ 15,4703 * 2A12F = 128 372
o Il = H| 100,000& * 1Y * 23] 200
NEES=sI)ls 823 oA 30,007 26,572 3,435
= 4,000
Al 26,007
101 @121 30,007 26,572 3,435
=2 4,000
Al 26,007
03 I HLZ2ZZAHE S 30,007 26,572 3,435
OXNYgEg=sgl)ls 8235 224 B 30,007
oJlg2 1,329,800& * 14 * 12& 15,958
= 4,000
Al 11,958
SPNN0: =] 1,329,800& * 1 * 400% 5,320
oXNAEHALE 100,000& + 198 » 12& 1,200
o ZyHFAH| 120,000& » 1¥ = 12& 1,440
cQlA LG 100,000& + 1Y » 12& 1,200
o JtAHIE = HI 30,000& + 1 = 12& 360
oA ReY 70,0008 » 1H x 128 840
cItE Y 20,000& ~ 1 » 12& 240
o YA S| 1,329,800& * 1 * 120% 1,596
cHIR=RIIHY 82,3203 x 1% » 18¥ 1,482
oA2te =g
15,4403 * 1Y = 2A|2F = 12& 371
SJIZHE SHEAN 29 X 29,816 27,654 2,162
101 2124 1| 29,816 27,654 2,162
03 RIAHAEZZRE 29,816 27,654 2,162
OFEgEHL 29 22zl B 29,816
SPIE= 1,283,620 * 1 x 128 15,404
SENI0: =) 1,283,620 * 1H * 400% 5,135
oSSR 50,0008 » 1H » 128 600
oXNAEHALE 100,000& + 198 = 12& 1,200
oE Y 40,0008 * 1Y = 128 480
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